MACHINE GUARDING

ASSEMBLY INSTRUCTION
- JUST FOLLOW ME

SAFE ESGAPE LOCK w

INTERACTIVE

KIT 36905875

PROTECTING PEOPLE, PROPERTY, AND PROCESSES. | troax.com 88755875 ver. 001 @


https://instructions.online/?id=2345-88755875

Kit Safe Escape Lock

Bag for Safe Escape Lock Single ssss032s

-

PR

x2 / x2 x2

M8x35

ﬁ(z %‘2
M4x16 M4x12
x2

x2
M4x8

x2
4,3x7x2,3

Safe Escape Lock Single

AN

7

36905362/36905672 36905861/36905871

N N ﬁ R ﬁ R

8 y § §

.o 0l .6 [l o i
5 5 7

5861 3§

°®

Kit 5875 SEL Fixing 5 34905875

4 4

5871

Bag for Kit 5875 sseoss75

x2
Méx100

2/4

36905875

www.troax.com

L00 49A G/8GG/88 0U Ky



Art no: 88755875 ver. 001

Bag for Kit

S
ﬂM&GS M8 C@:

| 2xD38

165

t@d[ :

ABB/Jokab Eden (M4x14)

w
Q
(o]
-4
o
=
)
~+

www.troax.com

36905875




Art no: 88755875 ver. 001

Bag for Ki

Schmersal R$5260 (M4x12)

Euchner CES..02 (M4x8)

ABB/Jokab Eden (M4x14)

Bag for Ki

Bag for Ki

www.troax.com

36905875



